HONDAGx 120/160/200 31100003

il

31423084

HONDA Gx240/270/340/390 31100015 31312088
31312083
HONDA Gx240/270/340/390 31423105

—

MOTORE FRIZIONE
ENGINE CLUTCH
MOTEUR A EMBRAYAGE
MOTOR EMBRAGUE
MOTOR KUPPLUNG
Acme A220 59247884
Acme A220 (REF.) 59256255
Acme ACT 280- A349-A360 59247884
Acme ACT 340 59247971
HondaGx 390-Gx340 D=25,4 59256280
HondaGx240/270 D=25,4 59256279
HondaGx120/160/200 D=19 59256275
Lombardini 15LD315/350 59247884
Lombardini 15LD500 59247924
Yanmar L100AE 59247971
Yanmar L70AE 59247884

31211080
31241080 4
31423084

56147845
50956262
52447896

56156276 (D=19)
[:56156281(D=25,4)

56156284 (D=19) (1)

NON SMONTARE MAI LA FRIZIONE
NEVER DISASSEMBLE THE CLUTCH
NE DEMONTER JAMAIS L'EMBRAYAGE
NIEMALS DIE KUPPLUNG AUSBAUEN
NO DESMONTAR JAMAS EL. EMBRAGUE

56156285 (D=25,4) O (2)

000 e MAX

FRIZEONE A CONO AUTOVENTILANTE

CLUTCH EMBRAYAGE
EMBRAGUE KUPPLUNG

DALLA MACCHINA

DE LA MAQUINA
DE LA MACHNE D01
FROM THE MACHINE

2

AB DER MASCHINE (1)779324

ON_ (2)779519 ]J-/ZGB :

BCS Motor mowers, BCS 2-wheel tractors - CLUTCH

DO01_2 68590 - CLUTCH

10/05/2021
Page 1/2



Pos.

31100003
31100015
31211080
31241080
31312083
31312088
31423084
31423105
37112173
50956262
52447896
53156150
53247488
55147842
55157609
56147845
56156276
56156281
56156284
56156285
59247884
59247924
59247971
59256255
59256275
59256279
59256280

Id

31100003
31100015
31211080
31241080
31312083
31312088
31423084
31423105
37112173
50956262
52447896
53156150
53247488
55147842
55157609
56147845
56156276
56156281
56156284
56156285
59247884
59247924
59247971
59256255
59256275
59256279
59256280

Q.ty

Description

SCREW TE 5/16X7/8

SCREW TE 3/8X1

NUT M8

HEXAGON SELFLOCK NUT M8
STUD BOLT M8X46X16X16
STUD BOLT M8X40X14X14
SPRING WASHER 8,4

SPRING WASHER 10,5
BEARING 6203 DDU7C3EX26 NSK
CLUTCH LEVER

PRESSURE PLATE

ENGINE FLANGE B&S 8HP 1/P
ENGINE FLANGE H=21
BELLOWS

BELLOWS

CLUTCH LEVER

SLEEVE D.19

CENTRING BUSH D.25,4
SPACER D19

SPACER D25

CLUTCH ASSY

CLUTCH

CLUTCH

CLUTCH ASSY

CLUTCH ASSY

CLUTCH ASSY

CLUTCH ASSY

BCS Motor mowers, BCS 2-wheel tractors - CLUTCH

DO01_2_68590 - CLUTCH

Note

10/05/2021
Page2/2



